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(%) (el/&Em) | (e1/&m)
&t A 11.08 10.32
10 |22 MxY -1.0 4.37 4.24
11 | 22Xy -1.03 4.37 4.24
13 | 4SME MXgo=H e -2.25 5.12 4.78
o= o= MgAlRl ¥ DIHE ~
14| Jxe 1.53 46.09 44.01
15 | OIS, Jtg 2 Al REY -3.99 12.30 10.89
22 | D2HE L ZgtAE HEY -2.39 5.65 5.25
C. 23 |HIZZZESMHENZ=Y -2.81 1.47 1.35
=
24 | HASSHEY -3.06 1.99 1.81
IENTHE MEZY @ J|H & ~
25 | 5259 218 6.12 5.73
HNEE 2EF, 94, 28 U
26 | o= nimrg| A X ol -3.77 12.96 11.55
olg, MY, 2| L AlH
27 | yxe -2.60 14.76 13.64
29 | JIEMDIH ¥ EHIMXY -1.35 6.75 6.48
30 | NSX Y EYLY MEY -1.90 5.66 5.34
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<E 554 - & MARX| ESAMAE =3

M5



O AMAI EATH AN M5

- 2 HE(m) | HIS(%) | 4 | SALKSE
g 354,022 100.0 - 3,650
A RAA(25,26,27) 178,627 50.5 10.31 1,841
HZ2EZ2MSM X (23) 8,039 2.3 | 10.31 83
HAXI2SHE(24) 16,841 48| 10.31 174
AEX L EYLe MEH(30) 11,834 3.3 10.31 122
SSHEH(11)
B ) 11,251 3.2 | 10.31 116
MRS, AEH, D4 28 L SAEH| ME2(26)
D2HE & ZECHAENE MEY(22)
2SIZ2ME MDA 2 JI2H2(25)
5,978 1.7 | 10.31 62
JIEF JIH & ZHIHX2(29)
oz, MY, Zs)|IDJ] L AIHME(27)
=EJI2HE MELDIH L IR HLI(25)
oz, MY, &S| L AIHMEA(27) 28,055 7.9 | 10.31 289
JIEF J1H 2 RHIMZ2(29)
=EJI2ME MEL:DIH L IR HLI(25)
MdAURE, BFE, S&, S8 L SAEY|
42,819 12.1 10.31 441
H = (26)
JIEF JIH & ZHH|HI X 2(29)
o= o=MMAtel ¥ 2OMZE MEA(14)
JES, Jpgh & Algr MIEQ(15) 33,348 9.4 | 10.31 344
JIEF DI & RHI M X 2(29)
SE2 L SEHE HME(20)
HISE, 2AEH, J4&, S8 L SAEY|
6,971 2.0 | 10.31 72
M= (26)
JIEF DI & ZHIHE2(29)
HeME HXY:O=2H2(13)
HIEE, 2AEH, J4&, S8 L SAEY|
7,489 2.1 10.31 77
HI =1 (26)
JIEF DIH & ZHIHIX2(29)
AMSEME(10)
2,770 0.8 10.31 29
J|E+ plp;
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